a(pp — H X)L, b

l_\
o
w

Ratio to LHCB

=
o
S

10?

1N

0.5

7000 GeV pp
[~ T 1T

L m LHCB

| --O-- Herwig++ 2.6.1a default
--f4-- Herwig 7.2.0 default
—a— Pythia 8.186 default

----- ¢ Sherpa 2.2.8 default

—
I_Zharged Particlen Distribution (with Tevatron fragmentation fraction

1T
|_CTI

|
Rivet 3.1.0, = 5.5M events

N2

— 1<
™
<

-1 M
©
o
™
—i

e L =

— X

~ A~ 13

— -1 C
(@]

B e

I s 8
(2

B 19
o
(@]

| | | | | | | | | [ | | | | | | | | | | | E

:l T T T T | T T T T | T T T T | T T T T |:

— —2

- . _

1

o R _

| —0.5

| 1 1 1 1 " | " 1 1 1 1 " " 1 1 1 1 " | " 1 1 1 1 |

2 3 4 5



	Contents
	Page 1


